EARAZROREIERT — 2 N—XBISY —F 20145FE5817H (+) SEIFEAR7H

el bS5 2 3 R BT Eih ‘ [Xiz] % ‘ [eErsm]  — | & (%) 19000 B
[A&4] 1 7% :5,000,000 @ 23 :2,000,000 ™ 33 :1,300,000 ™ 43 :750,000 5 7% :500,000 {
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
— . SN FEE= -03. 11— . . L= (EH)
1B FAILT v 2R 4 3 56.0% 2(0_3)2 1-1-1-1 39.1| 84.9 [§ ‘22? METEE
L:TAITLFNRTF— BT ILY v X FA I LM
[N > . —7-4- SR
olglial ¥y Faw [B] # o3 %ﬁf‘ﬁ 2(703t)2 7-7-4-4 | 387|848 | 2 | 442 %i% (FER)
L:IANXZXTNT B:TOdrrX © BORMOS
Eh 4t 3 | BAIUGAF 2:03.5 5-5-6-6 |38.9| 82.2 | 5 494 | EEZEME (BR)
3KY 3 JRIVATZ 56.0 (1 3/4) +2) AREE (%)
XD THANAN BHIYHTS RENS
FTIL S v S, o 3 | X 2:03.6 6-62-2 |39.3| 81.5 | 4 464 | AEBE (FR)
4111 |F7N3Iv>ar " 56.0 (3/4) () |BRL—Z ()
R:xF21=G7—X BETINZ—L KT 7 — L
e —s BERIRA :03. 22— . . B (EX)
5 o | F =L KISLF ¢ — 3 B (21033/49) 2-2-2-2 |39.7]79.1 | 3 (530) e
Z:Curlin B:¥—Hh—~ J=YrTyp—L
— . BHZ :04. -11-12- . . EFEA (EXR)
6l8l13 2= AHU3> 43 56_0% (22014/23) 11-11-12-12| 38.6 | 75.3 | 12 (4+726) S
LT Rvf Y~y IR B:v¥v=>T14—-L SRS
. Ste . —10-8— AEEE (EXR)
7 4| AW EY > [B] 3 e 2(701@:;% 10-10-8-7 | 39.6 | 75.7 | 1 <4+622) s *ija(lﬁzrkiz
X DTHANXIN Bibh—2LT o HET 7 — LI
N N i X . 4 5
sy s| 7Ly THUT HECp zos 3-2-4-5 |40.0| 74.3 | 8 (4322) zsizm (&R
R:TZAT7 X846 B:7a172Y > 2HIT7—L
N . . FLE—HR :04. -9-11- . . Ffy (FE®R)
ol5lg|vamrvrs 3 e 2(;)/42)6 9-9-11-11 [ 39.2 | 72.9 | 9 (4_528) A =
RVLRYTYRIRX BivavFiHU—L S
o HBEHE :04. -8-10- . . =g (EX)
1017110 —HIyAF— 4 3 R (21051/;9) 8-8-10-10 | 39.6 | 70.7 | 11 f; it
LTITRAFIEN B:T757—04F— RTHIS
YVILY TS F— 4 — s 3 | R 2:05.2 4-4-6-7 | 40.5| 69.1 | 13 | 526 |HFEE (RR)
111517 JIWITITF—4& 56.0 A 3/4) 46) (E)Efgﬁrj:—;(
v AT Ny h— BigALenl > R/
NN AR : -12-8- PARE (BR)
12 5| 7Ly w27 43 e (27.(5% 12-12-8-9 | 42.4 | 56.1 | 7 (512) IR
R:tE>r/nJAA BT F—IN—T1 I=atie]
. 43 | BEEMEDT 2:07.5 13-13-13-13| 41.2 | 51.9 | 10 | 486 |XfFHEA (E®)
13711 7TV v 7R 5.0 @ (4) | H- Ho ¥z a7 - ENRE
LA R—3IFh—L BTVI=—JLR H—L— - T vIX> - T7— LERE
@ 71 L
) 52.3-39.1
NO>ZA L |7.1-11.2-12.1-13.5-13.9-13.1-13.2-12.8-12.7-13.6
® I —F—@EBIERL
13=7r= 9,2,8,7-3-1,12,10,6,4,13-5, 11
20—+ — 9(2,8)7-3,1,12-10-6,4-13-5-11
3a—+— |[9(2,1)(8,12) (7,3) (4,5)-10,6-13-11
41—+ — 9(2,1)12,8,3(7,4)5-10,6-13-11
[ RN
B OB 9 1,690 714K 9-12 680M e & 6-8 1,490 &R 3-9-12 6,420
8 B 9 390F 3-9 2,070 B & 9-12 2,090 3B 9-12-3 55,270
12 140 3-12 590M B H 9-12 5,440M
3 320H

ABICOVWTRDTEEERROODE. TR LIV,



